
U
L

R
U
L

R
C

US

 
  

 
 I

n
st

a
ll

a
ti

o
n 

m
an

u
al

 
fo

r
 
  

 
  

 
  

 
  

 
 
3
5
00

D
28C/G

Dim
en
sion

s 
: 

D
27
.6
"H
9.
2"

  
16
L

C
o
ll

e
c
ti

o
n
 : Polaris

Bul
b 
Type

 :
 L
ED
 P
CB
 9
9W
 3
00
0K

L
am
p Weight :    

44.7 LBS
T
ot
al Weight :   

51.5 LBS

T
h
an

k
 
yo

u
 
fo

r
 c

h
o
os

ing our pro
duct(s).

Our Company is actively inv
ol
ved in e

very step of t
he

p
ro
duction.

Ou
r
 
p
ro

d
u
c
t(

s
)
 a

r
e
 
de

s
ig

n
ed to be utilized for every

ap
p
l
i
ca

t
i
o
n 

t
h
at

 
g
r
ac

e
s your home or busi

ness.
W
e pride ours

el
ve
s
 i
n 
pr
ov
idi

ng
 
th
e 
mo
st
 p
ro
mpt a

nd
c
ou

r
t
e
sy

 
s
e
r
v
i
c
e
 
t
o
 
a
l
l
 
of t

he valued customers.
Ple

as
e fi

nd
 t
he
 e
nc
lo
se
d 
de
ta
il
ed
 i
ns
tr
uc
ti
ons an

d 
r
ead

c
ar

e
f
u
ll

y
 
f
o
r
 
p
r
o
p
e
r
 
i
n
s
t
allat

ion. If you have any
qu

e
st

i
o
ns

,
 
o
u
r
 
p
r
o
f
e
s
s
i
on

a
l custo

mer service team is
c
om
mitt

ed to
 a
ssi

st
in

g
 y
ou
, 
pl
eas

e
 c
al
l 
ou
r 
toll 

fr
ee

HOT
LI
NE A

T:



P
01

P
05



Step 1
Please use the parts list to ensure you are
not missing any parts.

3
50

0
D
2
8

 
P
A
R
T
S
 
L
I
S
T

ZD

ZE ZA

ZC

bracket system

1

M4*32 screw

dimmable LED driver

M4*40 screw

ZG

16161165

screw pad

M10*T5 nut

M10*20 connector

∅
27.6" S.S plate

P02

P03

P05

P06

P01

33

P10

P11

P12

P13

56





 
    

 
 
 
  
 
 
 
 
C
o
n
g
r
a
t
u
l
a
t
i
o
n
s
!

Y
ou are now don

e installing y
our Elegant lighting

fi
xt

ur
e.

S
it

 b
ac

k 
an

d 
ad

mi
r
e 

e
ach crystal as it will become

t
he

 s
ta

te
me

nt
 p

ie
ce

 for your room/house.

I
f 
you re

qu
ire any ad

dition
al assistance,

p
l
ea

se
 c

on
t
ac

t 
us

 at 1-888-388-3390.

T
h
an

k you!

Cl
ea

ni
ng

 a
nd

 M
a
i
nt

enance Instruction

The
 f
rame and canopy surface is sta

in
less polis

hed.
P
leas

e 
use a clean,

so
ft
 a
nd dry cloth

 t
o clean

.Do n
ot
 u

se
a
ny
 hard 

object or 
to
ol
s to scratch

 on the sur
face of t

he
m
etal. 

Fa
i
lu
re
 to

 f
ol
l
ow
 t
he
se
 in

s
tr
uc
ti
on
s automat

ically
vo

id
s
 t

h
e
 
guarantee.

Cl
ea

ni
ng

 a
nd

 M
a
i
nt

enance of Crystals
W
et a s

of
t
 c
ot
ton

 f
ab
r
ic
 i
n 
cl
ean

 
wa
rm
 w
at
er and wi

pe
g
en

tl
y
,
 t

h
en

 
po

l
is

h
 
wi

t
h
 a dry soft cott

on fab
ri
c.

To
 O

rd
er

 R
ep

lacement Parts
P
l
ea

s
e
 c

on
t
ac

t 
t
h
e 

s
t
o
r
e
 w

h
ere the product was purchased

o
r co

ntac
t 

us
 a
t 
th
e 
ad
dr
es
s 
sh
ow
n 
on
 t
he
 r
everse 

sid
e.

F
or e

as
e of orderin

g,
 y
ou
 may use the

 o
riginal

 part
s 
li

st
,
indi

cati
ng

 t
he
 m
od
el
 n
um
be
r,
pa
rt
 n
um
be
r 
an
d quant

ity
 and

f
axin

g it
 t

o 
ou
r 
cu
st
om
er
 s
er
vi
ce
 d
ep
ar
tm
en
t at

2
15

-4
2
3
-8

8
82

.
 Y

o
u 

w
i
ll

 
b
e 

co
ntacted with pr

ices prior to
sh

i
p
me

nt
.
 
A
l
l
 
o
r
d
e
r
s
 m
ust be pre-paid.



E
l
e
g
a
n
t
 
L
i
g
h
t
i
n
g
 
W
a
r
r
a
n
t
y

The finish and frame of your new chandelier
or fixture are warranted for a period of two

(2) years from the date of purchase. Our
company will, at its option, repair or
replace any frame that has a defect in the
materials or workmanship during the warranty
period. All crystals are guaranteed for their
original quality during the life of the
chandelier. Breakage is not covered by this
warranty.

To make a claim under this warranty, contact
our customer service department at the
address and phone number shown below. A
written return authorization form will be
sent to you with specific instructions.

C
U
S
T
O
M
E
R
 
S
E
R
V
I
C
E
 
D
E
P
A
R
T
M
E
N
T

500-550 E. Erie Avenue
Philadelphia, PA 19134
Tel : 215-423-8880
Fax : 215-423-8882

Returns and Conditions of Warranty

R
e
tu

rn
s
 
mu

st
 
be

 
p
re

-a
u
t
horized by cont

acting our
c
us
tomer 

se
rv
ic
e 
de
pa
rt
me
nt
 a
t 
th
e 
ad
dr
es
s 
on the

r
e
ve

rs
e
 
si

de
.
 R

e
t
ur

ns
 
w
il

l only be accepted
 w
ith a

w
ritt

en
 retur

n merchand
ise authorization and re

turn
s
h
i
pp

i
n
g
 c

ha
r
ge

s
 
pr

e
-p

a
id

. We reserve t
he right t

o
i
ns
pect all retur

ned merchandis
e 
to fully deter

mine the
n
atur

e of any
 defect. This 

gu
arantee shall no

t a
pply to

any product 
th
at
 h
as
 b
ee
n 
ch
an
ge
d,
 a
lt
er
ed
 o
r other

wise
m
od

i
f
i
e
d,

 
n
or

 
s
ha

ll
 
i
t
 a

p
p
ly to any product 

that has
been 

re
paired or altered 

by
 a
nyone other 

than a
p
re-a

uthorize
d facility. We

 w
ill not be respo

nsi
ble for

an
y 

b
r
ea

ka
g
e 

o
r
 d

a
ma

g
es

 
i
ncurred during t

ransit
, nor

f
or

 c
r
y
st

al
 
pa

r
t
s 

o
r 

m
et

a
l
 frame part tha

t have
 b
een

s
u
b
je

c
t
 
to

 m
i
su

s
e
, 

n
eg

l
ig

e
n
ce, accident or 

in
appropriate

h
andl

ing. Als
o, we will not

 b
e held responsib

le 
for

d
am

ag
e
 
in

cu
r
re

d
 
du

r
in

g
 i

m
p
roper installa

tion or w
ir
ing

by
 
o
th

e
rs

,
 n

o
r
 f

o
r 

d
am

a
g
es

 
resulting

 from a failure to
f
ol

lo
w
 
th

e 
r
ec

o
m
me

n
de

d
 m

a
intenance or 

installation
p
roce

dures. T
his guarantee 

is
 issued in lieu 

of 
any and

all other gu
ar
an
te
ed
 o
r 
wa
rr
an
te
e,
 w
he
th
er
 w
ritten 

or
i
m
pl

i
e
d 

a
n
d 

a
ny

 
a
nd

 
a
ll other 

obligations or
lia

bi
liti

es
. 
Fu
rt
he
r,
 w
e 
ne
it
he
r 
au
th
or
iz
e 
nor pe

rm
i
t

an
y 

o
t
he

r 
p
er

s
o
n 

o
r 

f
ir

m to assume f
or us, any

li
a
b
il

i
t
y
 i

n
 
c
on

n
e
ct

i
on

 
wi

t
h the sale of our products.


